thb3a_system3_rehab Effective:

May 2012 Supersedes: Nov. 2011

& Post (End of

MISSOURI

HIGHWAYS AND TRANSPORTATION

COMMISSION

SEC/SUR ¥ TWP ¥ RGE

) GENERAL NQOTES:

- - No splice plates at
, Egﬁgﬁffm For this type joint 12 () ot T0°F ¢ First Post
Permissible regular spl \ce Expansion splice in channel *la on Bridge ——=
r‘_' sﬁiwzagezﬁsggciogﬂgzom? shall be made ot first post (Free sliding lap) ‘
B 1 B Bolts tightened to (Tyé.) i Y on either side of the joint. Same as joint opening %
| / snye tight condifion & Post perpendiculor (Ends of C8 X 11.5 Cap Rail) |
only and burr +hreods to slab (Typ.) ‘ )
S —  — T T B i s  E——— i —
i
| |
f f

—
[
[

127
(Min.)

Note:

be used at all
quardrail shall
at the exit.

Post-to-Bent Plate Conn.

€ 2 Bolts 1”@ A325 H.S.
with hardened washers
& 2 Vertical slotfed holes 1

plate washer

31/2" x 6"

Bent Plate-to-Deck Conn.
€ 3 Drilled holes 1

€ 3 Bolts

and hardened |ocking washers
€ 3 Holes 1 1/4"@ in both bent
plates

At bridge ends for head to head traffic,
four corners and for single directional
be used at entrance ends only unless required

DETAIL "B"

1/16"
(only)

x 1 172" in upper post flanges
€ 2 Holes 1 1/16"@ in both bent
plates. lower post flange and post

x 1/2"
Post Plate Washer

1/8"@ in slab
1”@ A307 with plate washer ! !

(Thru 27

shal |
traffic,

guardrail

¢ We x 20 Post ‘
(vertical) ——=

W6 x 15 Steel
(13 5/8"

long)

Joint Opening

openin

PART ELEVATION SHOWING THRIE BEAM RAIL

Blockout

+ Over lay Depth
(@ edge of slab)

i
C

(ma

2

tch existing)

1/2” Bent Plate
ond bottom)
mor tar )

(Le

i
]

<})

[
— IRl

12" (Min.) ‘

18" (Max.)
Joint Opening

(Over 2"

opening)

Blockout-to-Post Conn.
€ 2 Holes 13/16"@ in

We x 20 P

ost flange and

We x 15 Blockout flange

€ 2 Hex head bolt 5/8"@ with

fwo washers and hex nut
we ost flange

x 20 P

in

Thrie Beam-to-Blockout Conn.

€ 13/16"® x 2 1/2" Vertical

slotted hole
Blockout flange

€ 5/8"® Carriage bolt with

¢ 29/32"

one flat washer and hex nut

Required on one
onlys

but may be provided on
both sides of web at the

¢ 374" x 2 1/2"
regular slots and
3/4" X 3 374" exp.
slots at post

side of web

contractor's option.

Remove old concrete to this

\#
=5 L C

Sow cu+ hydroblast or chip with vertical

line.

sides.

%Estfmg asphalt concrete deck

Asphalfic concrefe,

(Top
vel with

3/4" X 2 1/2"

expansion splices

(%) Begin bridge anchor section
37
Cut top
channe | ’%Q We X 20 Post
flush
with end
of end

post ———=

C8 X 11.5 Caop Rail

PART PLAN B-B

1/8"

X1

L
in W6 x 15 Slots at regular 123" (Lap)
(k) splices and 29/32"
X 2 1/2" slots at

¢ ]

DIRECTION

S ¢
-
= | } OF TRAFFIC
L At splices between
posts,s eliminate this
i i\ slot or provide button
. .

head bolt
T
2/ f4"]421 | 2" (At regular splices)
2%’3%”}3‘; 23" (At expansion splices)

THRIE BEAM RAIL
SPLICE DETAILS

. abt. &,
Neutral axis 10°00' 00
—

SN
nt

Design Specifications: 2002 - AASHTO 17th Edtion
Pane!l lengths of channel members shall be attached
continuously to a minimum of four posts and a maximum
of six posts (except at end bents).

All bolts, nuts, washers, plates and elastomeric
materials will be considered completely covered by the
contract unit price for Bridge Cuardrail (Thrie Beam)

“THIS MED

1A SHOULD

NOT BE CONSIDERED
A CERTIFIED

DacuM

ENT. "

other items.

All steel connecting bolts and fasteners for Dos‘rs and
railings and all anchor bolts., nuts. washers and
plates shall be galvanized after fabrication.
Protective coating and material requirement of steel
railing shall be in accordance with Sec 1040.

Rail posts shall be set perpend\cu\qr to roadway

pr rofile grade. vertically in cross section and al igned
in accordance with Sec 713 except that the rail posts
shall be aligned by fthe use of shims such that the
post deviates not more than 1/2 inch from true
horizontal G\ ignment after final adjustment. The shims
shall be 3" x 1 3/4” and placed between the blockout
and the fhrie beam rail. The thickness of the shims
shal | be determined by the contractor and verified by
the engineer before ordering material for this work.

At the expansion slots in the thrie beam rails and
channels, the bolts shal |l be tightened and backed off
one-half turn aond fthe threads shall be burred.

At the thrie beam connection to blockout on wings, the
bol+s shall be tightened and backed off one—half turn
and the fhreads shall be burred.

Minimum length of thrie beam sections
post space.

is equal to one

5/8"® button-head. oval

shoulder bolts with 3/8" min.
thickness hex nuts shall ts.

be used at all slots

Thrie beam guardrail
steel.

on the bridge shall be 12 gage

Posts., cap rail angles, bent plates. channels and
channel splice plaftes shall be fabricated from ASTM
AT09 Grade 36 steel and galvanized.

Washers shall be used at all post bolts between the
bolt head and beam. The F\q+ washers shal | be
rectangular in shape 3" x 4" x 3/16" minimum and
with @ 11/16" x 1" slots or when mecesscry of such
design as TD fit the contour of the beam. A 3" x 1
3/4""x 5/8" rectangular washer shall be used between
the blockout and the thrie beam rail.

Special drilling of the thrie beam may be required at
the splices. All drilling details shall be shown on
the shop drawings.

Fabrication of structural
with Sec 1080

steel shall be in gccordance

Expaonsion splices in the thrie beam rail shall be made
at either the first or second post on either side of

the joint and on structure at bridge ends. When the
splice is made at the second post, an expansion slot
shall be provided in the thrie beam rail for

connection to the first post to allow for movement.

DATE PREPARED

5/17/2012

ROUTE

STATE

MO

DISTRICT

SHEET NO-

cou

Y

108

NG,

CONTRACT 1D-

PROJECT NO.

BRIDCE NO.

THB

3A

DESCRIPTIDN

DATE

COMMISSION

DOT

HIGHWAYS AND TRANSPORTATION

105 WEST CAPITOL
JEFFERSON CITY, MO 65102

1-8B8-ASK-MODOT (1-888-275-6636)

IF A SEAL 1S PRESENT ON THIS SHEET 1T HAS BEEN ELECTRONICALLY SEALED AND DATED.

¢ -
Slotted Holes M In addition to the expansion provisions at the %
3 | 3,8 R expansion joints., expansion splices in the thrie beam a
c " rail and the channel shall be provided at ofher
PART SECT[DN AT RAIL POST - 12 Gage o (Typ.) locations so that the maximum length without expansion a
Note: For Section C-C see sheet No. 5 provisions does not exceed 200 ft. 3
o . . . . .
" " [ Contractor shall ver\fy all dimensions in field before
¢ Two 5/8"0 ¢ >§\§$g§ Hé\;s”g ordering materials
wo orrwage
bol+ with one flat Shim plates 6" x 6” x 1/16"” may be used between the
- washer and hex nut 4y SECTION THRU THRIE BEAM RAIL top of the post and the channel member as required for
: L vertical alignment.
W6 x 20 Post
2 Button head 5/8"9 ELEVATION See slab sheet for rail post spacing.
e bolf with one flot ESTIMATED QUANTITIES
Boam washer and hex nu See Missouri Standard Plans drawing 606.00 for details
Rall Kca X 11.5 Cap Rail 2-35" ITEMS TOTAL not shown.
Cap Rail 23"
\ Angle b (Lap) 8.M.
15 5/8"® Hex head
Blockout = bolt with two
€ 2 Hex head 5/8"@ washers ond hex
bolt+ with two washers 3 nu BRIDGE
and hex nut 47 L PLAN
STD.
SECTION A-A DETAIL “B” DETAIL “A” STATE ROAD =
Beiigr‘veg ABOUT STD.
etaile
Checked Note: This drawing is not to scale. Follow dimensions. Sheet No. of STA. STD.
thb3a_system3_rehab.dgn 8:13:26 AM 5/17/2012



